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THE PROBLEM OF HEALTH CARE

The UK has had a National Health Service (NHS)

for over 60 years. Around 98% of the funding to

cover the cost of the NHS comes from general tax
revenue; the remaining 2% comes from charges for
prescriptions, eye examinations and dental work paid 5
for by those groups which are not exempt from such
charges. Traditionally, health care has been provided

free and available to all UK citizens who need it.

In Economics, this type of health care provision is

called a merit good. 10

Issues relating to health care never seem to be out of
the news. Typical headlines are:

‘East Sussex NHS Trust is faced with the closure
of its maternity unit in either Eastbourne or
Hastings’. (Hansard, 10 January 2007) 15

‘Funding cancer drugs makes no sense... the
money is best spent on improving surgical
techniques’. (Daily Telegraph, 8 August, 2008)

The problem we face is that there will never be

enough money for the NHS to provide the quantity 20
and quality of health care that we would all like.
Consequently, choices, often difficult ones, have

to be made. This should be clear from the above
headlines.

Not all forms of health care are provided free of 25
charge by the NHS. A good example is the case

of dental implants, whereby a new tooth is drilled

into a patient’s jawbone. Demand for this cosmetic
treatment has increased substantially in recent years.
Adults are prepared to pay well over £1000 for each 30

4



implant. This is due to the high cost of raw materials
and the limited supply of dentists who are able to

do this type of work. Dental implants are just one
example of a growing number of situations where the
private sector is providing a service in response to
market demand. Other examples are private hospitals,
private GP services and a wide range of alternative
therapies.

The health care market fails to produce the best
allocation of resources due partly to problems of
information failure. Over the past few years, there has
been an increase in the number of patients requiring
treatment for bowel cancer. Recent research has
found that there is a link between the consumption

of processed meat and the incidence of this type of
cancer. Experts have warned that ‘eating one sausage
or three rashers of bacon a day can increase the risk
of bowel cancer by a fifth’.

According to the researchers, people should eat less
than 500g of cooked red meat a week and avoid all
processed meat products such as hot dogs, burgers
and sausages. They also believe that more could be
done to get the message across — that those who eat
only moderate amounts of red meat and especially
processed red meat, are putting their lives at risk, as
well as stacking up future problems for our already
over-stretched NHS.
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1 (a) Using information from the case study, explain
how the ‘economic problem’ can be applied to the
health care market in the UK.

[4]




(b) In December 2007, the East Sussex NHS Trust
decided to concentrate its maternity services
at Hastings. Describe ONE likely economic
advantage of specialisation.

[2]




2 The NHS has to decide how to allocate resources
between paying for cancer-relieving drugs and
surgical treatments. Assuming no other choices have
to be made, this problem can be represented by the
production possibility curve below.

cancer
relieving
drugs
PPC
0 surgical
treatments

(a) ONTHE DIAGRAM, indicate a point where there is
an efficient allocation of resources (label this X)
and a point where there is an inefficient allocation
of resources (label this Y). [2]




(b) Explain why point X is efficient and pointY is
inefficient.

[4]




(c) Show on the diagram below how more surgical
treatments can be provided. Explain your answer.

cancer
relieving
drugs

PPC

0 surgical
treatments

[4]

10



3 (a) Use a demand and supply diagram to show how
the price of private dental implants is determined.

price

0 quantity
[3]

(b) State and explain TWO possible reasons for the
increase in demand for such implants.

1

[4]
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(c) Using a demand and supply diagram, analyse the
likely effects on the market for such implants of
an increase in the number of dentists who are
capable of carrying out this work.

price

0 quantity

[5]
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4 The estimated income elasticity of demand for private
dental implants is shown below for three groups of

consumers.

Low income earners 0.02
Average income earners 0.40
Above average income earners 1.65

Explain what these estimates mean and comment on
their usefulness for dentists who carry out implants.
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5 Comment on why there is likely to be information
failure amongst consumers of processed red meat
products.

[6]
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6 Discuss whether health care in the UK should be
provided by the government or the private sector. [18]
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